Losungen zu Ableitungsfunktion.

Aufgabe 1
a)  fl(x) =122 b) ¢(x)=-x-2
o Hx)=—e* d)  K(x)=10x(8x3 +2x) + (5x% — 3) - (24x% + 2) = 200x* — 42x> — 6
e) I'(x)=23x? f) p(x)=12x>-12
Aufgabe 2
a) f'(x) =12x3-cos(x) — 3x* - sin(x) b) ¢'(x)= 21% V12
¢ H(x)=3x2+6x—17 d K(x)= %x_% —2x72
e) I'(x)=2x-e3% —3x2.¢7% ) px)=—-x-e*
Aufgabe 3
a)  fi(x) =5-e"F3 4 B5axe™ 3 = 53 . (14 ax) b) ¢'(x) =2xIn(x)+x? 1 =x(2In(x) +1)
o H(x)=2(e"+e¥) (¥ —e ) d) K(x)= 2x(2+c<(3;fc);sa(ci->();sin(x))
3% ain( 2 3 2 2 _ 1 _
e) I'(x) =33 -sinle2¥) 4 3% . cos(e2*) - 2e%* f) p’(x)—m-Zx—\/ﬁ
Aufgabe 4
a) f'(x)=4x?-sin(x) + 8x - (— cos(x)) b) ¢ (x) = e . (cos(x) — x - sin(x))
¢ mj(x) =25t cos(2t) d) K(x) = (cos(3x)-3) - cos(x?) +sin(3x) - (cos(x?) - 2x)
e) [/(x)=—sin(3tx) 3t +¢ ) p)=3xz-2-x)2+6x2-(2—x)3
Aufgabe 5
a) f'(x)=10x* +12x3 + 12x b) ¢'(x) =20x>—3x2 o m'(x)=6x+1
d) K(x)=2cos(x)+ %x*% e) I'(x)= 1,5x7% — 2sin(x) ) px)= 3x2 —8
Aufgabe 6
a) f'(x)=¢e"-(Bx+4)2+6e" (3x+4) b) ¢'(x) =12x3-cos(x) — 3x*sin(x)
, 1
O ml(x) = sVETsnG) 52 d)  K(x) =48 (3x—8)°
e) I'(x)=20-(2x—3)° f) p'(x) =2-sin(x?+ 1)+ 4x% - cos(x® + 1)
Aufgabe 7
a) f{(x)=10t-e ¥ —10tx-e~* b) ¢'(x) =3cos(2x3) - 6x2
_ 1
¢ m'(x) = —(sin(x))"2 - cos(x) d Kx) = COS(X)'\/}?“(X)%X -
e) [I'(x)=2e* f) p(x)=12x°
g q(x)=In2)-2* b () —e+er



Aufgabe 8

a)  f'(x) = 2cos(3x) + (2x +1) - (~3sin(3x)) b) ¢(x) = Bl D2 (i 7)2
) m’(x):ﬁ-12x2+\/4x—6-6x d K(x)=14% e+ 3xe"=1e¥(1+x)
/ — . DX __ sin(2x)—2x-cos(2x)
e) Ii(x)=10t-¢ f) p(x)= TMC)OZS
Aufgabe 9
x)y/x—sin(x)- 5=
B fx) = 5k V2 by g(x) = O
¢) m'(x) =12x3- cos(x) — 3x*sin(x) d) K(x) =36x3cos(x) —9x*sin(x)
e) I'(x)=3x>+6x—17 f) p(x)=-2x73

Aufgabe 10
a) f'(x) =2cos(2x) - (x2 + €3*)? + sin(2x) -

2 2
24x3.60%” —4x.66% 466)(

2(x2 + %) - (2x + 3¢%¥) + 6x

b)  g'(x) == -(6x* 1)

o m'(x)=1

d) K(x)=4x-sin(—2x?)

e) I'(x)=2

f) p(x)=—-6x73

g q(x)=c"

h r(x)=3

Aufgabe 11

a) f'(x)=8x3+ jx’%

b) g¢(x)=2-(x+e€) - (1+¢")

¢ m'(x)=e" (Bx+4)2+6e* (3x+4)

d) K(x)=e"+2"

e) I'(x)=(02x—2)e*+ (x> —2x—1)-¢* = (x*—3)-¢*

f)  p'(x) = (sin(x) + x - cos(x)) - e*sin(x)

Aufgabe 12

a) f(x)=-16-(2x+1)73 b) g(x)=6x+45-(3x—1)"*

Q m(x)=6(3x2+x)2 (6x+1) d)  k(x)=2(x2+1)2 +2x2- (x24+1)"2
e) I(x) = 8e** - cos(e?) f)  p(x) =2 cos(3x? +4) —2x2sin(}x2

+4)



